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Sudoku 25x25 Volume 1

>> Instructions

Sudoku 25x25 uses similar rules to a standard Sudoku puzzle, except that rather than being 9x9 the
puzzle is now 25x25. This means that you must place the letters A to Y into the grid, rather than the

digits 1 to 9. So the full rules are very simple:

> Place A to Y into every row, column and bold-lined 5x5 box

A completed grid will look something like this:
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There are 50 of these enormous puzzles in this book - so good luck!

For even more puzzles, check out Sudoku Xtra magazine each month - see www.SudokuXtra.com.

- www.SudokuXtra.com

©Dr Gareth Moore
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>> Puzzle 1
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>> Puzzle 2

> oz - = M w > (] X | X -2 D &)
L - m T < o =40
X <O 0> O X - m>D>wo>oa s
I DX u»nuw S o QX ZkF™
=24 > |0 = w I (<>m
- O ¥ m Al a>2Z |uw w T » -
A » o > =S| W = X D |- X |4
X Z > << ™| — c(> = m INTH
- T - X o~ D L OO wr > S
D> LsSax-—onls m o|ldao»z2Z2 o x
- I | = ni> o X
- X O D 7} o S > - (0]
w Z|=s Og>Dm O >|- wo =
LL > o | X L = X 0 < - m
- Z >0 ¥ |[X(mo|w
w = goon=w o LT DCX™™ S a
(0] o S oolwg A>a0zZz- D o
0> - > m|a IS0 - X Z
O X X< w 4 =2 F |2 o |—lm = >
S - > | LW Z - 0 < 7] = O o (@]
> = ] - - T Z o -
S 4D x> o O oI wOA
> Ww-—QA0»wn D =0 XS 400 >
X O (@] - (&) -l >
o m o > < OO0 = (@) - - c = a > 7))

©Dr Gareth Moore - www.SudokuXtra.com



>> Solution 2

>> Solution 1
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>> Solution 4

>> Solution 3
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